QUESTIONS FROM PAST PAPERS
The diagram shows a ray of monochromatic light, in the plane of the paper, incident on the end face of an optical fibre.

[image: image1.emf]
(a)

 (i) Draw on the diagram the complete path followed by the incident ray, showing it entering

into the fibre and emerging from the fibre at the far end.

(ii) State any changes that occur in the speed of the ray as it follows this path from the source.

Calculations are not required.
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(4 marks)

(b) (i) Calculate the critical angle for the optical fibre at the air boundary.

refractive index of the optical fibre glass = 1.57
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(ii) The optical fibre is now surrounded by cladding of refractive index 1.47.

Calculate the critical angle at the core-cladding boundary.
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(iii) State one advantage of cladding an optical fibre.
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(6 marks)

